==
N = 0] &F AF S & AN A
20148 = 20 A LEHSH AL =X
A AMIEX
I AN S SEAH
St AISIE2 X AHIA &Fat (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
A3l £ Xl 259, 103,481 277,388,422 N 18,284,941
= 191,809,040
= 394,423
= 60,516,844
£ 6,383,174
AMNESX S 10,314,412 11,416,406 A1,101,994
= 8,492,698
= 11,000
= 1,810,714
ANSIE2 X AHI A SFA 10, 153,372 11,166,210 N1,012,838
= 8,492,698
= 11,000
== 1,649,674
SAAHEA 25 24 6,000 8,000 A 2,000
201 et d| 6,000 8,000 A 2,000
01 AF 22| H| 6,000 8,000 A 2,000
OME 22X =0 S8E HHUEA 29 6,000
K GAS HHIA EXAIE =X 9,321,422 10,582,860 N 1,261,438
= 8,345,698
& 975,724
308 XAHXIEHSOlIA 9,321,422 10,350,575 N 1,029,153
= 8,345,698
= 975,724
01 AIKSHHEMNEXZ 9,321,422 10,350,575 N 1,029,153
OXYDAS AHI A EXALSY 9,321,422
= 8,345,698
o= 975,724
SHASEXNE2AS 29 L A EX22E20E 22l 357,350 297,350 60,000
A&
307 2Iz2to| A 317,350 297,350 20,000
10 SIS XIEX 317,350 297,350 20,000
O AMN3EXNET 29 171,000
OAZISXNAIE 22X 824 25 & &4 26,350
OAMNS=2XI9 < A XIS 30,000
OsEZ9ZCWT 29 90,000
308 XX SHHSOIH 25,000 0 25,000
01 AIXSHMENEXZ 25,000 0 25,000
OdZANIEXNAIMESUS X 25,000
403 XX SHHS K20 & 15,000 0 15,000
01 AIXISHHMA=Z2E X 15,000 0 15,000
OHE AMsEXNE2AS IIsELAYE 10,000
O3 Y=2XNUs NS A BHINAH| 5,000
AMSISXNEEHH &9 47,250 47,250 0




2AM:
D ASIEX SEXE

el

X ZH
S =

Akl = X1 ot

AR S X AHI A ghat

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 11,000
< 36,250
307 glz2+ol & 47,250 47,250 0
& 11,000
< 36,250
10 A3l S X2 = 47,250 47,250 0
OAMtel =Xl B22dH 299 47,250
&2 11,000
< 36,250
ANAMB=EX 2= 100,000 200,000 100,000
301 LB A F 20,000 20,000 0
1MIIEES S 20,000 20,000 0
ogzz 2 fA=z2z= XA 20,000
308 XX EHSOIA 80,000 180,000 A 100,000
01 HIXNHHNBMNEES 80,000 180,000 A 100,000
OXgGMmeEXE2AN 29 80,000
SXNEH HE=s4 11,350 30,750 A 19,400
203 YR =&l 11,350 11,350 0
03 A BFXH S =AY 11,350 11,350 0
O=2Xed J2F4 8,500
OAt2l =X =28 2,850
NIAASIMEIAXAS 2 210,000 0 210,000
= 147,000
= 63,000
307 glz2tol & 210,000 0 210,000
= 147,000
< 63,000
10 AtSI =X 2 X 210,000 0 210,000
OSEXNIAMNIIMEIAXZEH 2F 210,000
= 147,000
< 63,000
M3 SEEE NIMI=EXNHE =8 100,000 0 100,000
207 A RO 100,000 0 100,000
01 A3 39| 100,000 0 100,000
OHM3Il XNSAEI =X HE == 100,000
ABIEX Ald &5 2 K& 161,040 250,196 A 89,156
ASISTAIE MR 92 40,000 50,000 210,000
301 et a3z 40,000 50,000 A 10,000
01 AR 2Z A 53 40,000 50,000 A 10,000
OMEISXIAE HEX A2 40,000
SEAMEXNZ JIsEZ 80,000 165,000 A 85,000




SN ALSI S X
M M =2X SEHAH
S MEER AL =235 & X (&)
SA - BB B () - MM - BES Ol &t o San HmEET
403 MtXISHHE =01 & 80,000 165,000 A 85,000
01 XM A=2E X 80,000 165,000 285,000
OZEAE=X2 JsEZ 30,000
OzZAa =X & HE =+ 50,000
SEMEN2 22T MM & d2d L3t 41,040 35,196 5,844
308 AXIEHHSOIA 41,040 35,196 5,844
01 HIXNHHBMNEELES 41,040 35,196 5,844
OZEAS =X 2 SAR HRMHA 41,040
gz ¥ I& 2,018,037 2,618,037 A 600,000
2& 22 ¢ X 2,018,037 2,618,037 A 600,000
E8HH K& 702,937 541,937 161,000
307 glz2tol & 593,000 473,000 120,000
10 AtEI S X2 X 593,000 473,000 120,000
OEsHHd 2% 43t 363,000
OE=tAd =U dF™X =d 110,000
Osg:=2ssla 2229 120,000
402 RIZ2FR201 A 109,937 68,937 41,000
01 RIZEAI2E X 109,937 68,937 41,000
OEEHH Al & MR JIsEL 109,937
B2 XA 157,100 162,100 A5,000
301 et a3z 83,100 83,100 0
01 MEIBEE 263 83,100 83,100 0
O=JtIR3x /A2 83,100
307 gl2tol & 74,000 79,000 A5,000
01 222l 70,000 75,000 A5,000
O=Sgs3A 2d=zH XA 70,000
10 A3l S X2 X 4,000 4,000 0
OtgeE=044 X& 4,000
EEANE HE ¥ s 1,105,000 1,841,000 A736,000
402 RI2HXt20l ™ 1,000,000 1,800,000 A800,000
01 2I2tX2E X 1,000,000 1,800,000 800,000
OZEEE3d ZdAY 1,000,000
403 UHXSHHSA=0l& 105,000 41,000 64,000
01 HXSHMA=2E X 105,000 41,000 64,000
OfRS==2g A 50,000
O3 SEE =J1dH &x ¥ =4 FH| 5,000
OFEH 2INRI3X AWt A 50,000
EedA 2y Y =it 53,000 73,000 220,000




SN ALSI S X
Hu: venel ¥ A
oelr 2@ el 2 XY (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 10,000 10,000 0
10 A3l =X 2 X 10,000 10,000 0
OLIctAtE =3 u = 10,000
308 XtXIEHHSOIA 43,000 63,000 220,000
01 AXHHILEES 43,000 63,000 A 20,000
OE&EY dAXA 25,000
OIS et20s & MM 2L 18,000
S ZMESH 188,380,029 208,721,193 220,341,164
= 167,637,625
< 20,742,404
Jzdasdy 25 & XA 188,380,029 208,721,193 A 20,341,164
= 167,637,625
= 20,742,404
IEMERESZN X 152,168,625 169,319,250 A 17,150,625
= 135,261,000
=) 16,907,625
308 X EHSOIA 152,168,625 169,319,250 A 17,150,625
= 135,261,000
=) 16,907,625
01 IXNSHHBNEES 152,168,625 169,319,250 A 17,150,625
OJI=da2d330 X 152,168,625
= 135,261,000
< 16,907,625
g2goxe 4,671,000 4,444,597 226,403
=2 4,542,000
< 129,000
308 XtXIEHH SOl A 4,671,000 4,444,597 226,403
= 4,542,000
< 129,000
01 X HHILEES 4,671,000 4,444 597 226,403
OXAAAS 2= X 1,161,000
= 1,032,000
< 129,000
Odiz==2 X &3 X 3,510,000
= 3,510,000
212 =X Xl &4l 3,791,250 4,177,743 A 386,493
= 3,370,000
< 421,250
308 XX ©HAI S 0 & 3,791,250 4,177,743 /386,493
=2 3,370,000
< 421,250
01 AXHHIYEES 3,791,250 4,177,743 A 386,493
Oo2a=x K& 3,791,250
= 3,370,000




SN ALSI S X
B BOD|EMBEE
el JIZMERE 22 U X (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
| = 727,250
M BXN S M A F2F 22A4H XI& 918,223 1,130,828 A 212,605
= 706,325
< 211,898
308 XX EHHSOIA 918,223 1,130,828 A 212,605
= 706,325
= 211,898
01 AXNSHHBLEES 918,223 1,130,828 A 212,605
OSerAtdl 22l A 21248 XI& 918,223
= 706,325
< 211,898
SE=ANX2AAE 2IXE 107,634 125,174 A 17,540
201 et 10,000 27,540 A 17,540
01 At 22l 10,000 27,540 A 17,540
OAtell 2t2IAH E8us & 292 10,000
308 MXIEHMSOIH 97,634 97,634 0
01 HXNHHBHELS 97,634 97,634 0
Ood=2IsXNAt 29 XA 97,634
S3=X LA e (M2l A 2Y) 103,162 115,200 A 12,038
= 103,162
308 X EHHSOIA 103,162 115,200 A 12,038
= 103,162
01 IXNSHHBNEES 103,162 115,200 A 12,038
OAtedl 22l Aty 29 103,162
= 103,162
SE=X ALHAH N (XEBE NI=SX ASHA 3,696,000 2,877,000 819,000
)
= 3,696,000
308 XX EHSOIA 3,696,000 2,877,000 819,000
= 3,696,000
01 XX EHXI fEX3 3,696,000 2,877,000 819,000
OXEE NIA=SNHEHAH HA 3,696,000
= 3,696,000
e 2 ALY X & 14,771,700 17,260,620 A 2,488,920
= 13,130,400
< 1,641,300
308 XXM SO A 14,771,700 17,260,620 A 2,488,920
= 13,130,400
< 1,641,300
01 IXSHHBAEE 14,771,700 17,260,620 A 2,488,920
OX&Z2ZAtE XI& 14,771,700
= 13,130,400
< 1,641,300

(&)




SN ALSI S X
My RO EMBEE
Cel JIZMESE 25 2 AY CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
AHEAbell 2t 2] 45,050 106,854 A61,804
= 37,100
< 7,950
308 XXM SO0 A 45,050 106,854 A61,804
= 37,100
< 7,950
01 IXNHHBNEES 45,050 106,854 A61,804
OXHE AL 22 45,050
= 37,100
= 7,950
slael2Aag 694,000 757,850 A 63,850
= 416,400
< 277,600
307 21201 A 694,000 757,850 A 63,850
= 416,400
< 277,600
10 AFRISXIEX 694,000 757,850 A 63,850
Oslgel=Aad 694,000
= 416,400
< 277,600
NETEdH2Y 2,867,900 2,677,500 190,400
= 2,361,800
< 506,100
308 XXX SO0 2,867,900 2,677,500 190,400
= 2,361,800
< 506,100
01 AXSHBLAEES 2,867,900 2,677,500 190,400
OXgiady 29 2,867,900
= 2,361,800
< 506,100
KN AXEEHEHSAX X< A 25,000 25,000 0
308 XXIEHH S0l A 25,000 25,000 0
01 IXNHHBNEES 25,000 25,000 0
OXNSTEEH SAX HRIHA 25,000
e ASNA 940,500 1,010,331 A 69,831
= 836,000
< 104,500
308 XtXIEHH SOl A 940,500 1,010,331 A 69,831
= 836,000
< 104,500
01 AXNHHEBANEES 940,500 1,010,331 A 69,831
OX&&EAZ XA 940,500
= 836,000
< 104,500

(o))




M AR =X
My RO EMBEE
Cel JIZMESE 25 2 AY CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
228 U= ==Y B3 S5 A2 2,201,600 1,642,256 559,344
= 2,048,000
< 153,600
308 XXM SO0 A 2,201,600 1,642,256 559,344
= 2,048,000
< 153,600
01 IXNHHBNEES 2,201,600 1,642,256 559,344
225300 Y= 43X 243 N (523
28%) 2,201,600
= 2,048,000
< 153,600
IINZEELDIAIS IR 1,341,254 925,647 415,607
= 1,129,438
< 211,816
308 XXM S0 A 1,341,254 925,647 415,607
= 1,129,438
< 211,816
01 AXNSHHBLAEES 1,341,254 925,647 415,607
OJtA2HY S 20IA Y K& 1,341,254
= 1,129,438
< 211,816
L=oEH2dY 35,475 17,551 17,924
308 XXt S0l A 35,475 17,551 17,924
01 IXNSHHBMNEES 35,475 17,551 17,924
Ok%¢ #H2Y X 35,475
MEANLESAML HSHLEH XA 1,656 1,392 264
308 XX EHHSOIA 1,656 1,392 264
01 AXHHILEES 1,656 1,392 264
OL=0l MEALASALN HRMAH XA 1,656
ots=X&d 32,936,206 30,695,307 2,240,899
= 15,678,717
&2 383,423
< 10,490,892
£ 6,383,174
OtssY Z2HE =X 32,936,206 30,695,307 2,240,899
= 15,678,717
=2 383,423
< 10,490,892
£ 6,383,174
Heord X 15,753,605 15,424,190 329,415
= 3,122,784
< 6,247,647
£ 6,383,174
307 gl2tol & 76,800 76,800 0




AN ALEI =X
3 ois=Asd

el OlSE Y ZRME £X CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
10 Al S X2 X 76,800 76,800 0
OOts=sX&aE)|& 224 HdMA 46,800
OXgXaEz)dH 29 30,000
308 AXISHMSOIA 13,687,055 14,440,178 ANT753,123
= 1,796,284
= 5,507,597
£ 6,383,174
01 HAXHAHNBMNEXZ 13,687,055 14,440,178 NT753,123
O&FMYAOts 28Xz A 124,113
= 102,211
o= 21,902
OgAots =g K& 1,019,695
= 839,749
& 179,946
ogadlEg XN 23,660
= 19,485
& 4,175
Oots2 < X3 Az XA 609,813
= 502,199
== 107,614
Oz 29 & 498,960
= 332,640
o= 166,320
O8)s E2=s5d Ots=24 XN 6,383,174
£ 6,383,174
ogss olsa24AH XE 2,746,600
O0tsY¥=2AIE 29Hl & 1,580,000
Ea0ts NEEEZ XA 90,000
OJIEAEES OIS (AEAEHIE) XS 90,720
EA0lS 2FOG S S NS 15,000
OA&E0ts A& S =dHl N3 57,000
OAE0tE JIEEFAAY 11,520
OHd20ts dAMX=2 K& 30,000
OHA20ts 2tAHl K& 168,000
OO0IESEXNAIYE 22X d2MA 224,520
OREs0ls NEgXdxzzd X3 11,040
ONEZ/EIIEY dxEx3 XA 3,240
403 XX S M S K201 A 1,989,750 907,212 1,082,538
= 1,326,500
& 663,250
01 AIXISHM A28 X 1,989,750 907,212 1,082,538
O0tssEXNAE JIsEZAY 1,989,750
= 1,326,500
= 663,250
S58td &4 10,703,333 9,355,940 1,347,393




AN ALEI =X
3 ois=Asd

el OlSE Y ZRME £X (sl &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 7,871,153
& 2,832,180
308 XX SHAMSO0IA 10,673,333 9,155,940 1,517,393
= 7,871,153
= 2,802,180
01 IHXHHNIMNEXS 10,673,333 9,155,940 1,517,393
OX<EotsHdy 29 X& 7,900,962
= 6,077,663
< 1,823,299
OXY0t=sHdH ER2Y XN (XA 63,600
OXY0otsSHE Wetetdl XI& (XHA) 38,000
OX<E0otsHdH WM A& 65,700
OOtss XN uA X& 2,177,809
=2 1,793,490
& 384,319
Ol 20ts XN 198,902
Oz1n g ns32dd X 138,000
O0lE2 sSAg &8¢ XA 5,760
OANM&OtsS otd 328l K& 5,460
ORES0ts tstgsr=2 K& 66,000
OXNYotsHEH HEEAH K& 13,140
403 XX S M S K201 A 30,000 0 30,000
01 MXHHE2E = 30,000 0 30,000
OXE0otsHdH JIsE22AY 30,000
obd & A A 6,263,896 5,887,977 375,919
2 4,552,780
= 383,423
o= 1,327,693
201 Bt A H| 51,100 51,100 0
= 34,300
o= 16,800
02 35249t 51,100 51,100 0
OJIE/AE0s AHEE It 49,000
= 34,300
& 14,700
OLAEAEHINAEOIES MlEE IO 2,100
307 212t0| & 1,439,846 1,064,927 374,919
= 18,480
= 383,423
o= 1,037,943
10 At S X2 X 1,439,846 1,064,927 374,919
OllsEsE2I & 29 753,419
= 203,423
== 549,996
OZdJ|&a 29 242,600




2N
X ZH -
L= B

el

NEEpin
TEEMES
OIS T2ME XX

il

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

= 105,000
< 137,600
ONEAEXNZHYH 23 214,027
=2 75,000
< 139,027
Ootsslf s & u=s 13,000
OL=sA4 delxlg K& 24,000
OflA0t=sUa AMsIEsnEH & 13,700
ooglolzg &AL =& 72,700
ORRESOs ZHRE 5,000
ORESOs WBRS 5,000
O0d20ts =na 249 60,000
O - JIIERE0ES MelXZ XN AY 26,400
= 18,480
< 7,920
O&&0ls e s 2 82 10,000

308 XXX SO 4,772,950 4,771,950 1,000
= 4,500,000
= 272,950

01 AXSHBLELS 4,772,950 4,771,950 1,000
OS=EXNHL2UNEESMEIA(EHAEE)XA 4,500,000
= 4,500,000
OYYI2 2IXA(XL01) 12,000
OHM923 Heloly &AL R 30,000
Od20ts St & 3,000
Od=20ts AZ2Z&H XA 1,350
OREs0ts SJIMEgZzz0d X& 6,600
OAMEga0ls dolE28gE N3 24,000
OFMELxZZ)H XA 98,000
OctAH =& &4l K& 98,000

FAFAUAA 2= 215,372 27,200 188,172
= 132,000
< 83,372

307 2201 A 201,372 12,800 188,572
= 132,000
< 69,372

10 A2l S X2 X 201,372 12,800 188,572
OO0S=EXAIE SAXR A3 12,800
OXgotsdly sEXE 29 K& 188,572
= 132,000
< 56,572

308 XtXIEHHSOIA 14,000 14,400 A 400

01 AXSHBELS 14,000 14,400 A 400
OXgotsdH M2HES X2 14,000




2N
X ZH -
L= B

el

Akl = X1 ot
HRES(ArEl =X 1)
LHEHHXI=

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
MRES(AMIE2X D) 25,399,017 23,881,699 1,517,318
HEAHHK = 25,399,017 23,881,699 1,517,318
AZ2S0HIIZ SEEH &= 25,399,017 23,881,699 1,517,318
701 JIEISIHEE2 25,399,017 23,881,699 1,517,318
01 JIEtsI HEES 25,399,017 23,881,699 1,517,318
OS2 SHIISELIAN &S 25,399,017
HY2AZH (A S X ) 55,780 55,780 0
Jl2Z I (Ar2 2 X ) 55,780 55,780 0
Jl23Hl 55,780 55,780 0
201 £B-2%H| 26,600 26,600 0
01 At 22/ 26,600 26,600 0
OMII=R SRFA 26,600
202 od4dl 26,180 26,180 0
01 = LH o4 4l 26,180 26,180 0
OAM2=X SL2F& 26,180
203 YR =&y 3,000 3,000 0
04 BENSSIHRF=EHI 3,000 3,000 0
O A3l = X1 2t 3,000




